
EXERCISE # 1
 
Q.1 

(i) x = 9y  
(ii) 6y3x   
(iii) 2x + y = 3.4 

 
Q.2  x = a, y = 0  x = 0, y = b 

 : 
2x + 5y = 10 2x + 3y = 6 

 
Q.3 

2x – y = 6  : 
(i) (3, 0)  (ii) (0, 6)  (iii) (2, –2) 
(iv) )0,3(  (v) 


  5,2

1
 
Q.4 x = –1, y = 2 3x + 4y = k 

k 

Q.5   x =   y = 2
5

x + 4y – 7 = 0 
 
Q.6 x = 2+ 1  y = – 1 

2x – 3y + 5 = 0 
 
Q.7  a  b (–1, 2) 

ax + y + 1 = 0  2x + by + 8 = 0 
 
Q.8 

(i) 2y – x = 9  (ii) 2x – 3y = 15 
 
Q.9  3x + 15 = 0 
  (i)  (ii) 
 
Q.10 2y – 7 = 0 

(i) 1 
(ii) 

Q.11 x y = 20 
 5x + 20y = 200 

Q.12 (m, n) ax + by + c = 0 
 
Q.13 x y 

3
x  + 2y = 5, (3, 2) 

 
Q.14 50 

x 
y 

 
Q.15 

4 

(i) 2 
(ii) 3 

 
Q.16(a)  : 

 50 
 20

x  y

 (b) 
 10

 4 

 
Q.17 



60,000 



ANSWER KEY
1. (i)   (0, 0), (9, 1), (18, 2)     (ii) (6, 0), )1,36(  , )1,36(   (iii) (1.7, 0), 


  1,2

4.3 , (1.7 – , –2). 
2. x = 5, y = 0  x = 0, y = 2  2x + 5y = 10 

x = 0, y = 2  x = 3, y = 0 2x + 3y = 6 
, x = 0, y = 2 

3. (i) (ii) (iii) (iv) (v) 
4. k = 5   5. = 3  6. = –10 7. a = 3, b = –3

8. (i)
x'

y' 

y 

x –1 O 1 2 3 

6
4 
2 (ii) 

x'

y' 

y 
x 

7.5 
2 4 6 8 O–1 –2 –3 –4 –5 

9. (i)
x = –5

x' x–5 –4 –3 –2 –1 0 1 2 3   (ii)

y 
4 
3 
2 
1 

–4 –3 –2 –1 O 1 2 3 xx'

y' 

–5

3x+
15=

0

10. (i)

y 

4
3
2
1
O xx'

y' 

5
6

5.32
7 

 (ii) 

y 

xx'

y' 

1
2
3
4

1 2 3O

2y – 7 = 0



11. – 40 
12. am + bn + c = 0
13. x = – 6y + 15 ;
14. y = 50 x.
15. y = Kx ;  K = 4, y = 4x ; x = 2 , y = 8 ; x = 3, y = 12
16. (a) y = 20x + 30  (b) y = 4x + 6 

X' X

Y' 

Y y = 20x + 30

(0, 30)

(1, 50)

10 
20
30
40
50

O X' X

Y' 

Y

(–1, 2)

(0, 6)

1
2 

3 
4 
5 

O

6

–2 –1 1  2  3  4

17.  3,60,000,  1,80,000  1,20,000. 
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EXERCISE # 2
 
Q.1  

(i) x + y = 4       (ii) x – y = 2     (iii) y = 3x 
(iv) 3 = 2x + y    (v) x = y     (vi) x + y = 0 

 (vii) y = –x + 2        
 
Q.2  p (3, 2) 

px – 5y + p2 = 0 
 
Q.3 x – y = 1  2x + y = 8 

 y-

 
Q.4  

(i) y = x + 2   (ii) y = x – 2 
(iii) y = –x + 2  (iv) x + 2y = 6 

X' X

Y

Y'

–2–3–4–5 –6 O 1 2 3 4 5 6 
(2, 0)1

2
3
4 

(–1, 3)

–1 –1 
–2 
–3
–4 
–5 

 

Q.5 2x + y = 6 

 
Q.6  USA 

: 

32C5
9F 



(i) x-

 y-

(ii) 30°C 
(iii) 95°F 
(iv) 0°C 

 0°F 

(v) 

 
Q.7  

 8
 5

x 
 y 

 
Q.8  IX 

 100

 
Q.9  

5 

(i) 2 
(ii) 0 



Q.10  x = 1, y = 2 a2x + ay = 3 
 a 

 
Q.11 ABC , C = 3B = 2(A + B) 

 
Q.12 5 

 2 
80 

 10 
5 

50 

 
Q.13 

4 3 

5 1 

 
Q.14 12 

18 

 
Q.15 A  B 

A,  30 B  B  A 
 B,  10 A 

 A  B 


 
Q.16 7 6 

 3800 3 

5  1750 

 
Q.17  5, 9, 17, 27 

 
Q.18 26 

 
Q.19 9 

Q.20 5
4

1 
 5 2

1

 
Q.21 2y + x = 7 

x = 3 y = 2 
 
Q.22 

x-  
    x – 2y = 1  

  2x + y = 7 
 
Q.23 k 

(i) 2x + ky = 1  3x – 5y = 7 
(ii) x – 2y = 3  3x + ky = 1 
(iii) 2x + 5y = 7  3x – ky = 5 

 
Q.24 ABC  A = yº, B = (y – 9)º, C = xº. 

 B – C = 48º 
 
Q.25 6 – 1.5x = 0 
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ANSWER KEY

1. (i)
x' x

y' 

y 

1 2 3

32 1 

4

4O

(ii) 
x' x

y' 

y 

1 2 3–1 –2
–3

O

(iii) 
x' x

y' 

y 

–1 –2
–3

O
–2 –1 12 3

1  2   3

(iv)  x' x

y' 

y 

–1 
–2
O 1
23

2 31  

(v)  x' x

y' 

y 

O 1

2

2
1

 

(vi) x' x

y' 

y 

1 

2 

2 
1 

–1
–2 

–2 –1  

(vii) x' x

y' 

y 

1 2 3 

3 
2 1
O  

2. p = –5      2
3. 

A(0,–1)
O

M(0,2)

C(0, 8)

D(4,0)B(1,0)

P(3,2)
x 

y 

2x + y = 8

x' 

y' 

x – y = 1

 = 13.5 
4. (iii) y = –x + 2
5.



O 
1

C(0, 8)

x 

y 

x'

y' 

6

2
3
4
5

1 2 3 4
A 

B

 = 9 cm2 

6.(i)  

10
20
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9095
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Y' 

Y 

X X' 
–40

T(–40,–40) 

S
Q 

32C
5
9F  




F=C

P M

°C

C(–17.8,0) 

°F 

R(0,95) 

L(0,86)

B(10,50) 
A(0,32) 

(ii) 86° F 
(iii) 35°C 
(iv) –17.8°C  
(v) , – 40°C = – 40°F 

7. y = 5x + 3

1 2 3 4 5–5 –4 –3 –2 –1
–1
–2
–3

O
1

3
4
5
6
7
8

Y

Y' 

X' X 

2

(1, 8) 

(0, 3) 

8. x + y = 100

O
20
40
60
80

100
Y

X' 
20 40 60 80 100

X 

Y' 

B(100,0)

x + y = 100

Scale 
x-axis: 1 cm =  20 
y-axis: 1 cm =  20 

A(0,100)

9. y = 5x
(i) 10
(ii) 0
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1

Y' 

Y

X X' 
–1

O(0,0)

2
3
4
5
6
7

–1

–3
–4
–5

–2–3–4 1 2 3 4 5

8
9

A(1,5)

–2

P 
y = 5x 

A 

Distance traveled 

W
ork

 do
ne

(0,10)M 

10. a = 1, –3
11. A = 20°, B = 40°, C = 120°
12. 5y – 2x = 70, 2y – x = 20
13. 3x – 4y = 3, 5x – 7y = –1
14. 57

15. A =  62, B =  34
16.  500,  50. 
17. 3
18. 39, 13
19. 18

20. 9
7

21. 
22. x = 3, y = 1, (1, 0), 


 0,2

7

23. (i) k  3
10  (ii) k  – 6 (iii) k  2

15

24. 82º, 73º, 25º
25. x

y' 

x' x 

6 – 1.5x = 0 




